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HAFZ1S Al (LEt2 2 X /2t 266,483 260,387 6,096
AF1s 2el 135,183 129,087 6,096
AR 8,300 6,661 1,639
201 et | 8,300 6,661 1,639
02 B32%H| 8,300 6,661 1,639
Od=2 8 Xl 1,500
O 24| 3,300
~HEUR(2AA)
93721 * BAIZH * 120 900
— 2582 (& A
2,5008 * 8AI2F * 120 2,400
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300,000 1,500
Oz Xl 2,000
BAstA 22 4,810 4,609 201
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OdtAH S o1l &+ 18 x 50¢ 2,412
206 M EH| 2,398 2,377 21
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OstHg e REM 2,398
-3gs 298
— EAHA 2,100
ors | 22l 8,000 7,920 80
201 LBt 9| 8,000 7,920 80
02 2224 H| 8,000 7,920 80
OBoE 22l 50,000 = 400 8,000
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04 JIZtHIZ22XNSE S 8,396 7,770 626
OZEZSIAIY (B2 XM, XA &)l
48,240 * K * 3L x 23| 1,448
OZ21N=S3Y|, ¢ertXl, s &8H o2
48,2403 * 49 x 5L x 33| 2,895
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OoZZLXHd EUILX 100,000& * 23] 200
OARE2 JlH =%=c2ldl 50,000& * 23 * 2& 200
OJ27] 2t WA 5,000& * 30074 = 30/100 450
206 M = Hl 3,335 435 2,900
01 = bl 3,335 435 2,900
OMN2SE L ot 335
—ESoHgM SH 2L
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Odeteg 100,000& * 12 1,200
Ol EAZ7YH 50,000& » 12& 600
OAL78 =&t 4,980
— SAMII =2 500,000& = 1CH 500
—Zey =2 100,000& * 2CH = 50/100 100
—SAMJI ENH 200,000& * 52 = 104 1,000
—ZeH EU(=E%) 200,000 * 53 = 2CH 2,000
—Zgle EU(Zet) 200,000 * 33 » 1CH 600
— PC==2l 100,000 * 9CH * 20/100 180
— JIE =2l 50,000& ~ 12& 600
OJIEt AtR 22l 5,0008 = 9¥% » 12& 540
Og - =23l 14,520
—gA 60,000& = 18 * 118& 7,080
- =% 30,0008 * 18 = 248« 7,440
02 524t 9,300 9,000 300
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—RER=s 150,000& * 128 1,800
—&Jles 400,000& » 123 4,800
— o223 35,000& ~ 12& 420
—#FNERES 50,0003 * 23] 100
— &I HHFH =2 100,000& = 23l 200
—olo=2=l &dJies 80,000& ~ 12& 960
—S4dgs AEE 10,000& * 12E 120
—CCTV &JIes 5,000 * 1504 + 128 900
202 O Hl 31,050 30,600 450
01 SLHOHI 31,050 30,600 450
ool 250,000& » 9F = 128 27,000
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